PYC3704

Psychological Research

2014 May/June 2014 May/June
Question Answer Comment Question Answer Comment

1 4 36 1

2 3 37 1

3 3 38 2

4 2 39 1

5 2 40 2|117/v'25=3,4
6 41V (cause), IV (effect) 41 2

7 3 42 3

8 3 43 4

9 1 44 3

10 3 45 2

11 2 46 1

12 4 47 1

13 2 48 3

14 3 49 1

15 1/10/100=0,1 50 3

16 1 51 2

17 4 52 4

18 1{50-40/5=2 53 4

19 4 54 2

20 3 55 3

21 2 56 1

22 1 57 3

23 3|z=14-20/8=-0,75 58 1

24 4 59 4

25 412,5/v'36 =0,4166 60 2

26 2 61 1

27 3 62 1

28 1 63 4

29 1 64 1

30 4 65 2

31 3 66 4

32 1 67 2

33 2 68 1

34 2 69 2

35 4 70 4(100x80/300=26,666

Exam Answers

Compiled by J Stoneley




PYC3704
Psychological Research

2015 May/June 2015 May/June
Question Answer Comment Question Answer Comment
1 2 36 2
2 3 37 2
3 3 38 1
4 2|IV (Cause) DV (effect) 39 3
5 2 40 2
6 3 41 1{16/v'100=1,6
7 2 42 2
8 1 43 1
9 3 44 3
10 2 45 2
11 1 46 2
12 3 47 3
13 1 48 2|25/v'64=3,125
14 3|/8/20=0,4 49 3
15 1 50 2
16 3 51 1
17 2[150-155/5=-1 (small) 52 3
18 1{300/450=0,666 53 2
19 3 54 1
20 2 55 1
21 1 56 1
22 3 57 2
23 2 58 3
24 2 59 1
25 3 60 2
26 1 61 1
27 2 62 2
28 3 63 3
29 1 64 1
30 1/120-150/15=-2 (small) 65 3
31 3 66 2
32 2 67 2
33 3 68 3
34 2 69 2|6x6/18=2
35 2 70 2

Exam Answers
Compiled by J Stoneley




PYC3704
Psychological Research

2014 Oct/Nov 2014 Oct/Nov
Question | Answer Comment Question | Answer Comment
1 2 36 1
2 3 37 1
3 2 38 1
4 3 39 3
5 3 40 3
6 1 41 1
7 3 42 1
8 3 43 3
9 1 44 3
10 2 45 2
11 3 46 1
12 1 47 1
13 2(5+4/20=0,45 48 3[Pop std dev unknown
14 2 49 2
15 3|{Or +, And x 50 2(0,0345/2
16 1/18/30=0,6 51 1
17 3/300/10000=0,03 52 2
18 2|z=1 (small portion) 53 2
19 2 54 1
20 1 55 1
21 1/10x10=100 56 1
22 3|10/v'100=1 57 1|Should be p=30
23 2[130-120/10=1 58 2
24 1/100-120/10=-2 (small) 59 1
25 3/30/100=0,3 60 2(d=0,6
26 1 61 3
27 2 62 2
28 1 63 1
29 2 64 3
30 1 65 3
31 3 66 1
32 1 67 3
33 3 68 2
34 2 69 2
35 3 70 1/83x67/300= 18,53

Exam Answers
Compiled by J Stoneley




PYC3704

Psychological Research

2015 Oct/Nov

Question

Answer Comment

IV (cause) DV (effect)
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Question

Answer Comment

36

37

38

39

40

41

42

43

44

45

46

47

48

49

50

51

52

53

54

55

56

57

58

59

60

61

62

63

64

65

66

67

68

69

70

6x6/18=2

Exam Answers

Compiled by J Stoneley




